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TRUONG DAl HOC VAN LANG
PON VI: KHOA KE TOAN KIEM TOAN

PE THI VA PAP AN
THI KET THUC HQC PHAN
Hoc ky 2, nam hoc 2023-2024
(Dung cho nganh Tai chinh ngan hang)

I. Thong tin chung

Tén hoc phan: | F2-Ké toan quan trj 2
M4 hoc phan: | DAC0090 Sé tin chi: | 2
Ma nhém 16p hoc phan: | 232_DAC0090 01

Hinh thie thi: Tric nghiém két hop Tw luan Thoi gian 1am bai: | 75 | phut
Thi sinh dwec tham khdo tai li¢u: Co [] Khéng

Sinh vién duoc tham khao tai liéu gidy va file da dugc download vé may

Céch thirc ndp bai phan tw luan:

- SV g0 truc tiép trén khung tra 1oi caa hé théng thi hodc upload file excel/word
- KHONG DUGQC PHEP UPLOAD FILE ANH.

I1. Cac yéu cau caa dé thi nhim dap wng CLO
(Phan nay phdi phdi hop véi thdng tin tir dé ciong chi tiét cua hoc phan)

Trong sé

Lay dir
<y Hinh | o | ligudo
hiéu Ni dung CLO thic | yspn | Cauhei | Diémso | lwdng
CLO da_r{h phan thi so toi da mirc
912 | ganh gia dat
(%) PLO/PI
1) (2) 3 4) ©) (6) (1)
0.4d/cau
Ap dung kién thuc dy Tréc Cau 1.2.3 (tong
CLO1 | béo, du toan, thim dinh Ngh?ém 25% | 45gg | diem6 | PI3.2
dé lap ké hoach cho to ' B cau la
chtrec. 2.4d)
Tu luan 15% Caul1l 1d
Ly giai cac bién dong vé ) 0.4(}/C§1Ll
chi phi, doanh thu, cac Tréc Cau (tong
chi tiéu do lwong higu Nghiem 10% 910,11 | diém5
CLO2 | qua phuc vu cho kiém ' cau la PI13.2
soat va danh gia hiéu qua 2.0d)
hoat dong cua cac bo Cau 2.1 0.75d
. ' luA 0 : :
phan. Tuluan | 1% | cai00 | 0.75d
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Thuc hién 1ap ngén sach 0.4d/cau
mot cach doc 1ap cho Tric Cau (téng
doanh nghiép khac nhau d 15% 1213.14 | diém 4
CLO3 Nghi¢m ’ o C]éeu L | Psa
1.64)
Tu luan 15% Cau 3 1d

Van dung tu duy phan
bién vao tu van ra quyét
dinh kinh doanh cho
doanh nghiép.

CLO4 Tuluan| 5% Caul2 | 0.5d | PI51

I11. Ngi dung cau hei thi

PHAN TRAC NGHIEM (15 cau — 6 diém- 0.4d/ciu)

Céaul

In a situation where there are no production resource limitations, which of the following items
of information must be available for the production budget to be completed?
(1) Material usage from the usage budget

(i) Sales volume from the sales budget

(iii) Standard direct labour hour per unit

(iv) Budgeted change in finished goods inventory

A. (i), (ii) and (iv)

B. (ii) and (iv)

C. (i), (iii) and (iv)

D. All of them

ANSWER: A

Cau 2

Which of the following is a feasible value for the correlation coefficient?
A.0

B.-18

C. +2

D.+1.2

ANSWER: A

Cau 3:

Based on the last seven periods, the underlying trend of sales is y = 350 — 2.75x. If the eighth
period has a seasonal factor of —25.5, assuming an additive forecasting model, then the
forecast for that period in whole units is:

A. 3025

B. 328

C. 321.75

D. 333.2

ANSWER: A

Céu 4:

Four years ago material X cost $10 per kg and the price index most appropriate to the cost of
material X stood at 180. The same index now stands at 350. What is the best estimate of the
current cost of material X per kg?
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A.19.44
B.5.14

C.35
D.9.44
ANSWER: A

Cau 5:

Calculate the effective annual rate of interest (to two decimal places) of: 1.5% per month,
month compound

A. 19.56%

B. 18%

C. 19%

D. 18.56%

ANSWER: A

Cau 6:

A two-year investment yields a return of 15%. The cash returned from the investment,
including principal and interest, is $3,500. What is the interest?

A. 854

B. 2,646

C. 1,050

D. 840

ANSWER: A

Cau7

Bee Ltd has a payback period limit of three years and is considering investing in one of the
following projects. Projects A require an initial investment of $1,000,000. Cash inflows
accrue evenly throughout the year.

Year Cash inflow
1 350,000
2 300,000
3 250,000
4 200,000

What is the non-discounted payback period of Project A?
A. 3 years and 6 months

B. 3 years and 7 months

C. 3 years and 8 months

D. 3 years and 9 months

ANSWER: A

Cau 8

What is the present value of five annual payments of $1,000 and discounted at 8%, giving
your answer to the nearest $?

A. $3,993

B. $5,000

C. $681

D. $3,791

ANSWER: A
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Cau9

A company expected to produce 350 units of its product, in 20x3. In fact 400 units were
produced. The standard labour cost per unit was $40 (4 hours at a rate of $10 per hour). The
actual labour cost was $16,740 and the labour force worked 1,700 hours although they were
paid for 1,800 hours. What is the direct labour efficiency variance for the company in 20x3?
A. $1,000 A

B. $1,000 F

C. $3,000 F

D. $3,000 A

ANSWER: A

Céau 10

A company manufactures a fruit juice, which is sold in 0.9 litre bottles. During the bottling
process there is a 10% loss of liquid input due to spillage and evaporation. What is the
standard usage of liquid per bottle?

A. 1 litres

B. 0.99 litres

C. 2 litres

D. 1.4 litres

ANSWER: A

Cau 11

Which one of the following performance indicators is a financial performance measure?
A. Cost to each new product

B. Idle time ratio

C. System (machine) down time

D. Number of customer complaints

ANSWER: A

Cau 12

Which of the following would be part of the revenue expenditure budget?
(i) Refurbishment of existing factory premises
(i) Pay salary to employees

(iii) Purchases of goods for sale

(iv) Purchase of a new factory premises

A. (ii), (iii)

B. (iii) and (iv) only

C. (i), (ii) and (iii) only

D. (i) and (iv) only

ANSWER: A

Cau 13

When preparing a production budget, what does the quantity to be produced equal?

A. Sales quantity — opening inventory of finished goods + closing inventory of finished goods
B. Sales quantity + opening inventory of finished goods + closing inventory of finished goods
C. Sales quantity — opening inventory of finished goods — closing inventory of finished goods
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D. Sales quantity + opening inventory of finished goods — closing inventory of finished

goods

ANSWER: A

Céu 14

The following extract is taken from the production cost budget of S Co.
Production (units) 3,000 4,500

Production cost ($) 11,000 14,000

What is the budget cost allowance for an activity level of 4,000 units?
A. $13,000

B. $14,000

C. $13,500

D. $12,000

ANSWER: A

Céau 15

A Company manufactures and sells one product which requires 3 kg of raw material in its
manufacture. The budgeted data relating to the next period are as follows:

What is the budgeted raw material purchases for next period?

Sales 4,000 unit
Opening inventory of finished goods 500 unit
Closing inventory of finished goods 800 unit
Opening inventory of raw materials 3,000 kg
Closing inventory of raw materials 3,500 kg

A. $13,400

B. $4,800

C. $12,500

D. $5,200

ANSWER: A

PHAN TU LUAN (3 cau- 4 diém)

Cau héi 1: (1.5 diém)
The following information relates to a three-year project.
Initial investment $1,000,000
Cash inflow Year 1 $300,000
Cash inflow Year 2 $500,000
Cash inflow Year 3 $420,000
Cost of capital Year 10%
Required:
1. What is the net present value of the project? (1d)
2. Should this project be done?(0.5d)

Cau héi 2: (1.5 diém)

Last month a company budgeted to sell 5,000 units at a price of $15.50 per unit. Actual sales
last month were 6,000 units giving a total sales revenue of $96,000 and standard full cost per
unit is $8 per unit.

Required:
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1. What were the Selling price variance? (0.75d)
2. What were the Sales volume profit variance? (0.75d)

Cau héi 3: (1 diém)
Budgeted production in a factory for next period is 3,500 units. Each unit requires six labour
hours make. Labour is paid $10 per hour. Idle time represents 20% of the total labour time.

Required:
What is the budgeted total labour cost for the next period? (1 @)

PAP AN PHAN TU LUAN VA THANG PIEM

Phan cau N@i dung dap an Thang | Ghi
héi diém | cha
I. Tric nghiém 6.0
Caul-15 0.44d/
cau
Il. Ty luan 4.0
Caul 1.1 1d
Discount
factor
Time Cash flow (10%) Present value
1 (1,000,000) 1 (1,000,000)
1 300,000 0.909 272,700
2 500,000 0.826 413,000
3 420,000 0.751 315,420
NPV 1,120

1.2 This project should be undertaken because the NPV is 0.5d
greater than 0

Céau 2 2.1 The Selling price variance 0.75d
= (P1-P0)*Q1 = (96000/6000- 15.5)*6,000= 3,000 (F)
2.2 The Sales volume profit variance 0.75d
= (Q1-Q0°)*(P0-C0) = (6000- 5,000)*(15.5-8)=7,500 (F)

Cau 3 No idle time: Total hour required = 3500*6=21000 hour 1d

Idle time: Total hour required = X=> X — 20%X= 21000 =>
X=21000/(1-20%)=26,250 hour
= the budgeted total labour cost for the next period =
26,250*%10=262,500 $

piém tong | 10.0
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TP. Hé Chi Minh, ngay 31 thang 03 ndm 2024

Ngudi duyét dé Giang vién ra dé

TS. Lé Phan Thanh Hoa Th.s Lé Nhu Hoa
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